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square of
yen, for

7, and that its 49 cells are to be filled ma-
gically with numbers , for instance , the first 7, on
the one side take tli 0
with unity and ending with the root 7, and on the

1
Vely;other 7 and all its multiplies to 49 exelus

as these only make
this an arithmetical

and
1makes

ven terms as
done

„ add 8, whiel

well as the other , 0, 7
with the first pros ted, fill the square of
the root 7 magically: in order to do this , write in
the first seven cells ofthe first horizontal rank the

n numbers proposed , in what order You please ,
for that is perf indifferent ; and jit is proper 10
observe here , tl those seven numbers may be
ranged in 5040 different manners in the same rank .
The order in which tlhey are placed in the first hori -
20ntal rank , be what it will , is tlat which determines
their order in all the rest . For the second horizontal
ranle , place in its first cell either the tlhird , the fourth ,
the fifth , or tle sixth number , from tlie first number
ok the first rank , and after tliat write the six otliers
in order as they follow . For thie third horizontal

ion repe
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ranks which follow , the first thus determined ,

1the other numbers , as we

— must be wri
in the first . goingon to 5 . 6 178 0 d 7, a
12 „till every number in tlie Moblen

eEvery 1 rdine
0 4 1Pl 1 upen By this means, it I8

f lent 1it n3 num! 4 1Lident , that no number whatever can be repeatedtwice in the same rar 1 ·twice in the same ra by consequence , that
tlie seven nu 23 3 * 1he seven numbers , 1, 2, 3, 4, 3 7, being in each
rank , must , of nèecessity , 1 ke the same sum.



Ingenious artists , how may 1 ispose
Of five - and - twenty trees , in just twelve

graThat every row five lofty trees mi
Explain the scheme - the trées complete

ty , and 7 of thie
J70 distribute an

wine, 7 of them full , 7 of them em
hal 1

Auantity of wine , and the same number o
It full ; so that each of them shal

SO0LUTION.

This problem admits of two solutions , which may
the two fol⸗auls , be clearly comprehended by means of

lowing tables :

Persons . full casks . empty half full.

0 Ist . 2 2 7
13 And. 2 2 3

Zrd
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Persons . full casks empty half full . f
4 Ist . 3 3 1

U1Vand 3 3 1 5
Zrd 1 1 5

te Figure Nine .

ꝛumber, and the
nceis always di-same re L diffe

visible ider . Thus

5268735
It is not necessary that they be reversed , but pla-

ced in any order , provided the lesser sum is at the
bottom , and the same figures used . Thus

7391652⁴48
562841793

91763971765 5( 19591495
If you take any number ures in it

only, and reverse itV. „ tlie difference , it will
ut àa remainder , aud the

tigures in the quotient will read backwärds and for-
wärds the same .

1 be divisible by 9, with
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If you take more than thre figures to the number ,

the case will still be the same , if the first two or
three figures of the number you take do not exceed
the last two, or last three figu
difference , when each are
Thus, -

, more than 9 in the
ed up and subtracted .

608221
6 1
5 1

13 —
44

The Difference 9
A row of any number of igures , whose sum is any

ol the multiplies of 9, may be divided by 9 without a
remainder .

Place in a row 9 different figures , the sum of which
shall be 45, directly under these place another row

ot 9 ditferent figures , the sum of which shall also be
45. Subtract the lower from the upper Iine, and the
remainder will always consist of nine different figures ,
the sum of which will be also 45.

Aship was in a situation with a hole in one of her
planks of twelve inches square , and the only piece of
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piece must be eut into four pieces

8from the narrow end of the
given piece , 880 diride the piece so cut off into three
equal pieces by cuts in the shortest direction . When
arranging these three pieces leng thways on the topof the rer a square of twelve inches will be

To name flve weights , which added together , make
121 pounds ; by means of which may be weighed
any intermediate we ht , excluding fractions .

SOLUTTION.

he five weights , which . added together , make 121,and by means of which may be weighed any inter⸗
mediate weight , are , 1. 3 ,9 , 27, 81,121 .

„S0 às to repair the

MSCEI.

˖ 0
Lentalke
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